
2,u.ruuruunr t
urboFth

s. znqhururbulul
2O20p.

uhpuurhf , ntuhLlt L qluruulftuuuurl]r

l,ur urUurhh2tltp, ttqh1, FrLPur4Iru Uhn'

purdtrLurn utp, \nrltFgltltr q+qruqrlulbh tr!trtldhP,

Zlrrftlu\uh urtropqurtrur\ult h opqurhurlluh

apuruttrlur[urllrh rihphtrurLtp, uurppullnpm htp
hlmphp' purguuntplullp huniurllurpqlfrtplt,



38iD0(x)0

bbqlUurqurb huuUut{r2hhFh uultrlq urlr

tnnbltpthR 50.00

38411200 gtlrdutu$Ln uu hurn 50000 I s0.@

391@000 qulhDr-lp 400.00

39111180 uonn qnurnLttur\ urtlrL, LILururryu \urp\u.runtl uu hurrn t500c l0 150.00

3913822C urfdnn hu{ur\unq:u{bt (ru hurur lr 250.00

39800000 Uurppn{ L +u{ltgbnrl urFuuupurhP 86.00

39831241 odurn, dLnplt uu huru I50 120 18.00

39831245 odr.un, hhnor\ uu hurvl 400 50 20.00

39831244 uppnttutnrphF uu hurur r50 6C 9.00

39831246 htnnl! t{urgnt hgng llu hurur 40c 60 24.00

39836000 ul{hL unqnlur\uru uu huur 1500 l0 15.00

44a0(XDo Ltp!h1, rurphp L riu&lburtrhtp (rlururnflluLhp) 20.00

44831600 LhF\h htnutgJuL LntbntlldLtfr uu 2500 5 12.50

44331600 thlrllh hhnugdul tnft nLtplrtl lru 1500 7.50

48600000

SqjurlLhplt Fulqu{h h oqhpurg}rnh hurlurlurpqhp}t
hullurllurpq2urglrtr bpuqrurlht! +urpLPlthP 40.00

48611100

uqurFEFF f urquqh huilur\urirqgrl]rtr bpuqputlfttr

{turptldLtn uu rlFur 4000r I 40.00

50100000

Onluuqpulflr2nghhplr lr hurpur\lrg uurpptplt

{hpurhapnqrluh, qurhqurh utr h 4purhg htut
tlurqrlrut EunurlntplurhhLp 800.00

50111130 u{urnrlhpttrutubpfr r{hFurttrlt1qqqqlglgJllPryllll- uu 4Irull'i 350000 I 350.00

50111130 ur{un hptl-rurtrtpfr rltFurhDFnqdur! burnu{mpjmtttF uu 4Fu 4s000c I 450.00

s0300000

Ul .hurqurt hu u{lulpq}rjrtpltb qltuuttrlurllul}tlt
uurpBtplrtr, htnurlnl4ul4ur\g utr h
urtulrdurlhurl]rh uurpphplth unhlt{n4
ilhpurlopnqriurtr, rqurhqurLrlurtr h hurpurllg
bulDul1nLplnLtrhhp 550.00

5031112C

Nilu'Uu1nq:ulbtr uu'ppatilb qrlrhqurtr urt L

rlLlulLnpnqdurb burnulntpJnrLLtF UU tFUII 500000 500.00

50311260

$rupulllfrlur;|rh uurlptpf r{tpurtrnpnq uL h
qurhquhrft uh burnu4nrplmhhbp uu rlFru{ 5000c 50.00

50ir(x)000

Fd2\urluh L d2qrltln uurpphp]r rltpurtutp.nq ruh tr

qurlrqurtr urh bururlolplnlhhhp 600.00

50410000

lur+q, +nna.ull\q L utnmqnrl uurFptpb

{tFuirnnnq ult L qurhquhrlu-rl.r burnurlntplmhhhJr !- uu qFtur.l 40000c I 400.00

50411190

hur\uh1+thulbL uunBhplr rltputmpnq urtr h

qurhqurLr urh tuoulnlplnlttutF uu 4purU 200000 I 200.00

50500000

'tlnrlqkplr, \urlut-lptttplt, bnltut$thltlt L
rlturulu\urh \nhurtltrhptrtpft Lt utupptplt
rltpurtapaq utr t qurhqurtlturh burnurlntpprhhtp 130.00

5053113C

lprpuurlf urtfuhfr\ul\uri: urfu r{tnurhqnrplurtr
qmpdupbirmFlu r SunurJnLIunLL uu 4tur 130000 I 130.00

50700000

Uthptprr rl nhqur\urltlu! uurpptplt

{tprutrnpaqrturh h qurhrqurlnluh burnurlmplmLLtp r00.00

5072000c

qtLurlmhurqu[ 2tDnlgdurtr \tupuutlthlf {hpu.rhnlnqrttutu
h qurhrquh ruh btunurlntplnllrttF uu 4Fud I000m 100.00

551000q llorpulurguqlrh burmqntplnLLtp 900.00

5s11110C hlmpurhngtrtpmrl phur\rlhpr Eunujmplmhhtp lru +Fulr.i 900000 900.00

604m000 O4urlf tr urpurLuqnpu$ burnurlmplmhhbl 600.00

6041120C

UulmLurqnF o4urjtrl thnluul4nduu burnulmldlnlir
(ur{}rurun u) uu 4purU 600000 600.00

642000(l Itnruluqnp{ur\$turh burmulntplmtrtrtp 1,500.00

u2ttr9c hurhlurl|r[ htnul]unuurthh buDurlmploltrlrLn uu 4luLI 1500000 1,500.00



651(xD00

eplr pu2futfutL h ryur hhur qtuntqur!

bulrurFrplDlhhhll 450.00

6511110{ |urltpr 2plr pu2|uttf uu 4Furd 450000 I 450.00

6s2o(xn0

eurql Fur2lu iut L 4pur htur l1uru1{ub

tuururllr PloltrtrhP 1,500.00

65210000 qurqf pu2lum{ uu 4IrurU 1500000 l 1,500.00

65300@0

trt\unu rurtDtpJurh Fur2lu{urh L 4l\ur htul Uurqqub
rurnurjrwtDthhLIr 3,000.00

6s31000c g tllrnpur\ urhmplurt pur2lumd uu 3000000 I 3,000.00

66100000 ert'\r'rt't' t t'unru'*,iruylrh burnurlatga!!!4- 50.00

6611000C EurLlturlhL brunurl nlpl nLLttl uu 4nur{ s0000 50.00

665m000 urquhtrqurqFurqurt h \thuupn2ur\ur1|rh bunularpprtttp 279.50

6651117C

rlrnffiprurllr2ngLhplthtrn\uqrlurbu:quhn{urqpu\tuh
bulnurjnrplnrLLhF uu 28000 28.00

6651117C

FFur4FIF,ng[EFh--tu1\'nqqu'burqurhn{urqlu\utr
Eu.rnu1nr plnr-hhtp l^I hluu) 22WA 22.40

nuru[ur{Fuur[m uf txrnululuuhurn{nlP]urh

u qtu h nrlurqp tftuL b urn u ltpl44!n uu hu.rv} 229500 I 229.50
66511t40

70300000

Uh2urFd qlttpb qtrDbul\urtnlPturt' r{u$.ulrnpnrgur p \urJ
quI^uUurqlrulhb hhdmhptutltnrl |rnulUutltug:ln{
8urDullnlpttrrthtt 100.00

."*F*bpt tltll ,l*Fa*t1,,,InLFJuL bLr nujnLIdl nrtb hF uu 4nu-rd 100000 I r00.00
7031120{

71300000 htdtttFu\uh burnurtarptIll.hhtP 50.00

71351490 ttu4u.luurDtUthL pulFrntquqprlutr brunulnrplnrLbLn uu 4nuII s0000 1 50.00

71600000

sthrtb\tr\urt qu'I eurt\durh, rltpnr8mpluh h
lunphp4ururrlmp;urh 8urrurFrFlDr-trtltF 190.00

7r6317fi uu.rpptpf urnnrqrltufu brunu;ntp;nrLhtp uu 4FuIJ 150000 1 150.00

17631!2C

u[iiIEptEffiEFF E$F[inttuhutnnlq{ulL
burnurlnLPJmLhLF uu rIIlurJ 40000 I 40.00

71900000 t"*f .n*l,l"r't'-lt-t' t*DurlrrPlnlhLtF 8s0.00

71911100 pupn p uru nplrru\ utr bunurlnLldlntlbLF uu qFurtl 30000c I 300.00

71911100 1 urpnpurnnplrur!rutr 6runu.rlnrplnrLhtl uu lturU 550000 I 5s0.00

72200000

onurqrru'rht' ruurulmtrrurt tr lunnhP4urv{urlrurt
bruDuJnlpFr-ttutF 980.00

Elur4pu{F;ulu[n+Ju'h uqu:utup\rlurh
burnulmp;nthfutp IJU 4lruU 800000 800.00

7Z26LL6C

72261164

bpurqptul lrtr urqurhnrlr.turtr uquruurp\r-turtr

EuiDurlmplnLlrtLF uu rlnur 18000t 180.00

327.0072400000 Zuttorgurl€u{htr EurDurlargmhtttp

72471r0C h*'j"lqrt q,l,|ltl'l ttu"ri."plnLLhhF uunEnrlLhl (TSP) uu 4nur{ 300000 300.00

7241150C hu\.lurgurtgulhir t2tplr hnupfhqf Eurnulntg4!!!1 uu rltul 15000 15.00

72411700 4n tLu1|rL utr{uhmrf'trLp uu tFurJ 12000 12.00

76100000

qurqb urFrDnltuurptnnlpturtr btrn \urq{urt rluruhuq}ruiur\urt
brunruprpprhhtp 109.23

7613110C

qurqurutltrllnlffi Turiltuqulqb uhlulbUu\urtr
u quruu.rp\rftuh bu nu.r;nrplntlrtrL p uu qnurLI 109230 I 109.23

79400000

Flrqtrtu t \unullurprluh lunFhF+uruqn$Frt h hurltul $
EuntjrFl.plnltuhtF 330.00

79411214
qhmrlhtplr htur \urqqub Fnlhpquruqulqurtu
rnnn,nr nrn,l,lrtn uu qnu r30000

I r30.00

7941121C
qtrntdhLplr hhu \urqr{urb fLrnphpquu{u\uh
,rlnnnrh,Drhlhl,tn uu qpru'l 200000

I 200.00

79700m0 2uururphh2ur\trh L urhrluruhq,mplurh Eurourprpln rttl 6,950.00

79710000 ruh{urutrqnr-p1tul.r burnulmpjn rhhl q2 4Iru1d 695000c 6,950.00

79800000 SqurqFu\urt L +pub urnh!{n{ 
'uruprgmttrtg

700.00

79821774 uulurqTlullurt L uiDruptlurh lu.rnurlnrplntlhtp uu 4BurJ 700000 I 700.00

8050000( -{tFurqururnuurn urh turnurFlPFrttutn 200.00

8051110C u2luururlUhgltfb tltpurqrutnpuruur urtu 6urnq!4p1!q!] uu qlu[I 200000 200.00

90s00000 UryF h Furtntuhtdr hhrn \urqqu16 bunurFrPJAthhLD 96.00

90511150 u.r4plr $nlururytdur! bunurlmplmhhhF uu Ururd 9600c 96.00

90900000 tlurpprlurh h uutrllnupurhlrqltttl\ 8unorFrgnrttrtl 40.00



9091117C

qurnurp'xh[ETIFITFELnLTqlrttrf r r-f urpprlurtr

bunulnrplnrhhLp UU tnurtl 4000c I 40.00

qfiuullnl hru2r]ruqurh L rrnuurulblurh


